
SAP ABAP table IMFAEIS {Sender struct. for data transfer frm IM-FA/PS/CO-OPA to EIS}

IMFAEIS

MANDT [CLNT (3)]

VERSO [NUMC (2)]

VALTY [CHAR (1)]

COMPNY [CHAR (6)]

COMCOD [CHAR (4)]

BUSARE [CHAR (4)]

CONARE [CHAR (4)]

PRFCTR [CHAR (10)]

COSCTR [CHAR (10)]

PLANTL [CHAR (4)]

INVPRG [CHAR (8)]

REAINV [CHAR (2)]

PRJTYP [CHAR (2)]

ORDTYP [CHAR (4)]

CLASCL [CHAR (2)]

COUNTR [CHAR (3)]

ASSLOC [CHAR (10)]

PLALOC [CHAR (4)]

IMTOVA_CUK [CUKY (5)]

IMVAYR_CUK [CUKY (5)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 IMFAEIS-PRFCTR = CEPC-PRCTR 
0..N

{0,1}

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 IMFAEIS-COSCTR = CSKS-KOSTL 
0..N

{0,1}

IMTP

MANDT [CLNT (3)]

PRNAM [CHAR (8)]

GJAHR [NUMC (4)]

 IMFAEIS-INVPRG = IMTP-PRNAM 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 IMFAEIS-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 IMFAEIS-COMCOD = T001-BUKRS 

0..N

{0,1}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 IMFAEIS-PLALOC = T001W-WERKS 

0..N

{0,1}

 IMFAEIS-PLANTL = T001W-WERKS 0..N

{0,1}

T003O

CLIENT [CLNT (3)]

AUART [CHAR (4)]

 IMFAEIS-ORDTYP = T003O-AUART 
0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]
 IMFAEIS-COUNTR = T005-LAND1 0..N

{0,1}

T087I

MANDT [CLNT (3)]

IZWEK [CHAR (2)]

 IMFAEIS-REAINV = T087I-IZWEK 
0..N

{0,1}

T242V

MANDT [CLNT (3)]

VERSO [NUMC (2)]

 IMFAEIS-VERSO = T242V-VERSO 

0..N

1

T242W

MANDT [CLNT (3)]

VALTY [CHAR (1)]

 IMFAEIS-VALTY = T242W-VALTY 

0..N

1

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 IMFAEIS-ASSLOC = T499S-STAND 

0..N

{0,1}

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 IMFAEIS-COMPNY = T880-RCOMP 

0..N

{0,1}

TAIGD

MANDT [CLNT (3)]

OBART [CHAR (2)]

SIZECL [CHAR (2)]

 IMFAEIS-CLASCL = TAIGD-SIZECL 

0..N

{0,1}

TCJ1

MANDT [CLNT (3)]

PRART [CHAR (2)]

 IMFAEIS-PRJTYP = TCJ1-PRART 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 IMFAEIS-IMTOVA_CUK = TCURC-WAERS 

0..N

{0,1}

 IMFAEIS-IMVAYR_CUK = TCURC-WAERS 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 IMFAEIS-BUSARE = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 IMFAEIS-CONARE = TKA01-KOKRS 

0..N

{0,1}


